o2 1Yo A AABC = AB
BD =BC 2 o, /x ¢ 37]

@ 44° @ 46° ®

@36c @ 40°

30°

tZtgoln=g /A = /ABD = 36°

AABD £ o]5H47Z

/BDC = 36° 4 36° = 72°
ABDC = o]5HAZgo| B & /BDC = /BCD = 72°

" Lx = 180° — 72° = 72° = 36°




2.

o2 2 oA H 07 aABC 9] A olgtar &
ojtt. 1x 9] A7]E?

48°

D 40° @)42° @ 44° @ 46°

o, ,OBC = 48°

® 48°

AOBC+ o|sHAZgolnz
/OBC = /OCB = 48°
/BOC = 84°

AABCOA /BAC = %ABOC =42°




oA

1=}
rlo
-
|

3. ADFWAL T, w=(  eolth ()<
Fatelet.

[ 2
> ™et: 125°

S5 ~
/IAB = /IAC, /IBA = /IBC, /ACB = /ICA o]t}

A7+ WZhe] 37]9] -2 180°0|2& /ICBE sa st 31,
35°+35°+25°+25°+ Za + Za = 180°, za = 30° °|t}.
A7Hd IBC 9] W2+ 2719] 32 180° 0| BE £x+25°+30° =
180°

L Lx=125°




thS 1204 AABC = AB =CB, CA = CP o], /A =66° &
o, zx & 2717

A

Q

66°

@ 16° @18° ® 20° @ 22° ® 24°

B ~

AABC & o] SHAlZgo| B2
(BCA = 66°

E AACP & olSRgzrdolng
L(ACP = 180° — 2 X 66° = 48°

S Lx = 66° —48° = 18°




o 273t go] Azt SHMAZE DCE
A7 BAY 0B A= A AB o] E
2214 D, B oA 22} 54 DA, EB & °°7 Som
W& o, ABED 2] Yo]& F5hodat A C B
||:=-||': sz

/CDA = za 2} 5}H9,

/DCA =180° - (90° + /CDA) = 90° - Za

/ECB =180°-(90°+ /DCA) = 180°—(90°+90° - za) = Za
(- 3)

ACDA ¢} AECB ©f|A]

i)CD = EC

ii )/CDA = /ECB =za (Q)

iii)/DAC = /CBE = 90°

1), 1i),1ii) 9l ¢Jsll ACDA = AECB (RHA &%) ©]tt.

TEd TP e dol= ZoB=E AC =
AD = BC = 5cm ©]t}.

AB = AC + CB = 8cm ©]th.

. OABED = 8 x @ = 32(cm?)

—

)
e
I
&
B




H 1= AABC 9 WAHolth. AB =
14cm, AC = 10cm, ﬁ//@%} o,
AADE ©] 89| Zo|& atofet,

vV Vv
X
it

24cm

~&B

ADBI®| A DE //BCo|E&

LCBI = /DIB(%Z})---@

T, 4 1= YAo|2& /DBI = /CBI---©
@, ©°llA (DBI = /DIB

.. DB =DI

AEIC°|A DE //BCo|R&

/BCI = (EIC(Z})---®

T, 4 1= YHolBE /BCL= (ECIL---®
@, @Al (EIC = /ECI

- IE=EC

w2tA] DI + IE = DB + EC©]22 DE = DB + EC

. (AADE 9] E8)9] do])
= AD+ DI +EI+ AE
= AD + DB + EC + AE
=AB+AC
=14 + 10 = 24(cm)




7. Wol7k60em? 9 kS WHAAY ABCD o4 ol5-¢ Bl
e

A D

P,

>
> ®eH: 15 cm?

AAPO = ACQO (ASA %)
StH, AAPO + ADQO = AOCD °o|E &

AOCD = iDABCD = le x 60 = 15( cm?)




ot I3 Zrol /A = 90° Q1 AABC A

o4 BD & /B 9] o]5E4]1 BC = (8em
20cm, AD = 6cm € o], ADBC 9] H o]
=7 s
D
T~-20cm--~
@ 50Cm2 @ 52Cm2 @ 58Cm2
®)60 cm? ® 64cm?
1
(ADBC®] Ho]) = 20 x 6 x = =
2 2 <6cm
60 (cm?) {
6011/1




=4 3 o
=]

/B =170°, AB=AE°|EZ /AEB = 70°, ZEAD = 70° (9Z})
ut2tA] LADF = 20°, /CDE = 70° —20° —20° = 30°°|t}.




10. HYAPHSE ABCD oA LADE = /CDE Y dj, BE 9] Zdo]&?

A _--llem-_ D
/ ..
/
8cm
\
\

B E C

D)3cm @ 4cm ® 5cm @ 6cm ® Tem




